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Measurements

Measurements Value
mean signal (mean) 1598 2
Signal to Noise Ratio (SNR) 2556
Signal to Fluctuation Ratio (SFNR) 2485
Percent Fluctuation 0.06
Dorift 0.70
Radius of Decorrelation (RDC) 6.3
Mean Ghost Percentage 2071
Standard Deviation (std) 0.97

Signal

result.xml [percent fluct (trend remowvedl, drift, driftfitl

16684 T T T T T

= [B.686, B.78, B.¢

1662

leoB

1592

1596

1594

15497 | | | | | |

T T
chserved
fit

5] z2a 4@ =15} 28 1aa 12am

Frame number




Maghnitude spectrum Cmean scaled?

k4

Eelative =+d,

Frequence Spectrum

[mean, SHR, SFHR]1 = [15398.2 £35.6 248.51]

g T T T

o] |

5] H.85 B.1 B.15 .2 H.25
Freguency C(Hz2
Raduis of Decorrelation
rdc = 6.3 pixels
I calc,
meas., —+—

EOI full width, pixels



Smoothness - X

Smoothrness cFHHMY in mm - ¥i [min mean maxl] = [2.892 2.299 2.80831
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Smoothness - Y

Smoothrness CFHHMY in mm - ¥& [min mean max] = [2.415 2.554 2.97°61]
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Center of Mass

Smoothness - Z

Smoothrness (FHHMY in mm - 2% [min mean max] = [1.395 £2.395 3.3361]
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Center of Mass - Y

Center of Mass in mm - Y& [maxdisplacement drift]l = [B.B26 -B.815]
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Gho=%t mean percentage

Ghost

Mean of ghost wvoxels as ¥ of non-ghost [masked] mean
(ghostmeans brightghostmean? = (2.6871, 5.828)
Clower is better)
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